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HE36832- A @) [ | )5 EE 10 T3 ﬁﬁfg 6, H | EAILE |L=70.5m T rmy L AL 24,953 &5 2 MU
5536845 I | REA) IRAT 1 K18 10 T ?g;‘g ¥6 4, H | EATH |L-13.2m 7wy /BT AT 6,262 &2 DA
553686515 18R] )1 FHeAI) 1T 1 SEEE IR T Eﬂ? ¥647H | BALE |L=95.3m 7wy fEL AL BT 27,062| &5 1 PUH
453687 5K 1) 1)1 5655 46 11 T PRl 6 | AT |86 Tm Ty BT AR 21,205| 451 D04
55368851 18 yA] )1 FHeAI) AT 1 SEEE IR T Eﬂ? ¥6 47 H | BATLE |L=40.8m “w v /L AL 10, 198 %5 1 DU
453689 5B 1 R 111 5SS 8 10 T PR | #9608 | TATH [L66.5m Tm o /ML AR BT 19,007| %5 2 LS
553690517 188 7A] )1 FEAI) AT 1 SEEE IR T Eﬂ? ¥647H | BALE |L=45.4m 7wy L AL T 9,423 552 P
53601 5815 2 B3] 956 4 1R T PRl K6 | BATH [mtem Tm o 2B AR 0,856 %51 U0HH




453602 -1 ) 101 9856 |0 T3 PR | #9658 | BATHE |L5Tm TEy /ML RET 27,192| 5 2 P
5953693 552388 AT 1|58 1|11 96 5 ) 15 PIET | e n | BALE ot TBy s B 6,002 %110k
SE3TLA BB 1|5 2 B ]| S5 4 T PR | e | BATH [m TRy s BT AR 11,193 4 100t
53715 B W) 5.2 BT | 9S8 1R T P | w6, 8 | ATE [oLsm TEy /BT AR 19,604 451 P03
537165138 )1 B 2 B 1)) 1S58 298 1A T3 ﬁqﬁ? ¥6rH | tATHE |L=62m oy /T AL 16,041 2 1 DU
54193 51| A1 9S4 I T POT | 6 | ATE [stm FE o 2 BT BT 25,567| %2 W
H54194 X )| HER) 01| 585646 19 T P ws e | BATE LS4 sm ey BT 4,378 51 P
54218 B EII 1)1 S E A IR T FURI 1 060 A | AATH [5100.7m Ty /BT BET ARE T 20,164 5 2 DU
54219535 8RN 1 R EE) 3R] )1 S48 1R T8 E;é%g #1647, H | EATH |L=40m vy /T MAET RET 13,014 %5 2 DUaH
554220751 3@y )1 XA ) 1R SEEAE IR T ;j‘rﬁ\téi}l{g ¥647H | BATLE |L=38m ey ZfEL HAETT 9,887 51U
5554220 SRS | AN )1 56 11 T EIT ) g6 01 | ATH [F152.6m Ty 2RI AT 22,090 1 4
54230 B VT || A4 ) A1 5624 1 T FI | 068 | AT [LF143.0m Ty 2 BT LT 50,765| 4 2 IO
F54237 5 A/ NEAE K EE I T E%ﬁmm ¥6r A | EATHE [L=30m W4T JERL 11,976 %5 2 U4
55013513 [-Ea) 3T 5 #5468 |H T5 %ﬁ? 6, H | EAILE |L=29.5m “rmy L 15,881 5 2 PU =4
S50 LA ATV 11 S I PN g3 | BATE [F0m Ty /BT AT 3,263 452 00
55502551 1@ yA] )1 K38 ) 1R SEEE IR T Eﬁﬁm #6,H | EALE |L=22m Yoy /L 5,544 55 2 DU-H
5027230 1|36 ) AT S8 =18 10 T ﬁji%m ¥6rH | EATHE [L=19.3m 7oy 7L 5,839 1 DU
503623830 ) AR 1) 5§ EE I T3 ﬁﬁtﬁ@m 6, H | EALE |L=128.2m 7oy /L kAT 32,416 &5 1 UM
50T 55 M A1 4| S B I BRI s | BATE [Fzm a2 BT 4,356 10




55503875 L3 IAT ) 1| R 1RAT 1 K58 10 T Eiﬁé%? ¥erH | EATH [L1=22m Tur v 7T 9,974 1 PUH
55045 5538148 1| 963 4 ) 15 FI | 060 | AT Lm0 am FE s R BT RET 11,733 4 2 P
5552283 T || SR ) 3R] )1 $5 2545 1H T ﬁji%m 6 rH | +ARLE |L=251.9m oy sEL WAL 74,397  H 2 U
55552351 18R] 1 PN R 1RAT T SEEAE IR T Eﬁﬁg #6rH | tALE |LI=12m oy /LT WAL 19,326 55 1 DU
5552432 g ) 1| R BT S =18 1H T Eﬁﬁ%ﬁ #¥erH | +ARLE |I=12m vy s/EL WAL 19,326 %5 2 P-4
55502551 18R] 1| PHA) TR SEEAE IR T E%éﬁmm #6,H | EATLE |L=T4m o v /fL 15,331 %5 2 DU-H
455526 X ) || 2 50111 | S 1 T3 PRI | 608 | BATH [2om TEy BT 0,455 % 1 UUp
555275 R 1| )71 562 7 T PIET | s | BALE [F12.5m Ty 8L 1,602 51 DU
55528 BRI | L)1 1)1 9664 1P T REET | w6 | BAIH [mlom Ty 2B 5,745 42 Mk
555552751 18R] 1 N AT 1RA] 1 SEEE IR T Eﬁﬁg ¥3#»H | tALE |L=8.5m oy /L HOKkL 3,972 &5 2 MU-H
55553 B R )| P01 101 9664 19 T B g6 0 | BATHE |97 8m Ty S RT RET 63,330 % 1 U
5555545 TH1E /\ S H FE N fE g EER IR T Eﬁﬁg 6, A | BALE [L=30.5m ey L AT &HET 46,788 51 DUAHA
5140 KT || R 9901|925 4 1 T PR 6 | BATH [2om Fm o 2B AR 9,000 452 MK
KER FEEKEE

Pk B A T EEET | K92, A | EATE |EREASSEOER O s U — ST 0,730 41 Mk
WM BB K - Pk S 5 T WA | K98 4 A | MR [FERIUK - BB N O O T T 10,054| 51 P
P X ek S BB R TR WAL | K98 2 B | MR | KSR ORI O 2 5 A RETE 0,178 41 M0k
= H R T T W | R4 A | BTE | SSRORAEEE T 5,500 5 2 P
P M 5 1 P 5% 2 7 807 T AT | K93 A | MR [ 1 ALK o RN T TR 4,658 41 00K




REXT BB=E-BEE

HIR LS 57 AT A wann | wEs 7,216 42 I0HA
NS S AT — 3 9 L UIE T AT | wzan | s 2,596 52 U
AR MEEEE

ARSI L AT g | RRE e oo mie s 8,653 5 1 DM
Vs vany gk SEARAkmEs T | T | BRI e g oo s 4,180 45 1 I
REXAT EERRE

5951780 52 68177 1| S 1 T 11 9455 4 11 T A | 808 | BATH [mon TEy BT 2,013 100k
51782 B VT || )| AT 1 562 1 T AT | w350 | EATH |8.m TE /BT 3,330 %100k
552463513 )| ) 1FA] )1 S5 S 1R T ﬁ%@?@ 64, H | EATEH [L=94.4n 7o v 7T 39,898  ZH 2 DU
5046451 17 |11 5625 5 71 T Al | 6 | TATE Lsom 7y /BT 38,098| % 2 W04
5246551 IAT )| | EE ) 1371 S8 5518 10 T %iﬁ%m 37 A | EATE [L=12.0m 7o v 7T 3,714 551 DU-H
550467 50 ER3RT LM 31| 5625 5 71 T AT a6 | BATH -8 FE o /M REL 11,747 551 Pk
52469532 e IAT) | SE A 0] )1] ¢ F18 [0 T8 %ﬁﬁg #6rH | BARTHE |L=64.8m 70w 7T 19,488 &5 1 DU-H
5352500 552 368 AT F1 8501 11| 596 5 1 123 T | a6 | BATH [F18.00 TE 2B 6,946 £ 3 DI
5251151 38T )| | EE H) 3R] S8 5518 10 T %iﬁ%m 6 rH | BATHE [L=20.0m v v 7T 6,230 &1 DA
59505 12520 ER3RT LM 371 5625 5 71 T AT fa6 0 | BATH LS80 TE 2B 5,565| 45 1 DUk
5525135138 1A] )1 577 ) 3R] )1 S5 218 1R T fgﬂg #1137 H | BATE [L=10.0m o v T 3,508 F5 1 DU
5352995 553115 28111 96 1 T RIET | e | AT |-t oy s B 19,423 %5 3 0k




52996 551 1| = B5)1 11| S5 1A Tk A | 9678 | BALE 216.0m 70y 2 RL 8,776| & 3 I
52007 B VT || BB AT)1[ 56 1 T et | #9650 | LALE LSl Ty L 26,699| 43 DL
52999231 g {n] ) || FE M) 130] ) 1] $5 245 10 T2 ﬁ%ﬁg erH | HRLE [L=6.5m 7o v 7L 9,407 &1 DU-H
55301040 E03RT) 1| 17 1131|5625 5 71 T Al | 6 | ATE rism TE Y /BT 7,485\ 4 2 DA
55536945 iR/ THAT 1 SEE TR IR T }i{ﬁ; K3, H | ARLFE [L=7.0m T rvZFEL 2,946 £ 1 D94
5453695 5 0T )11/ INPR I T 1| 5 1 1258 AT g6 | BATH |2 on TEy 2R 0,858 41 Ul
5453696 5 HEF AT )| BH488)1 19011 96646 19 T B w6, A | ATF m18om Tay BT 6,000 2 ks
553607 50 EHIRT 1| 17 1131|562 5 71 T Al | 6 | EATE s TE o 2B 6,583 41 DI
SE3TO1 S M) W 25 T 1| 58 11 T BT | w9658 | TATH [LF107.60 71y /BT 25, 151| 4 3 MU
F53T03 5 U311/ INPR T 1| 55 1 T35 AT a6 | BATH -0 TEy 2B 17,812 53 Dk
53704 E RN 1/ ) )1 S5 I T AT 6 n | LATHE |80 TEy SR 21,350 45 1 DI
AT TR @) BT )8 EE I T3 ﬁﬁ%ﬁ%ﬁmm ferH | EALE [L=16.Tm 7oy L 5,394 51 DU
HA197 B3I 1R )1 S8 48 1 T ﬁﬁ? #1627 | BARTEHE |L=56.5m 7o v 7L 19,294 %5 3 U4
5354199 552 368 001551111 965 4 1 T2 AT | w3y A | LATE -15.0n Ty 2 BT 4,682 43 I
54200 BRI | |81 1390)1| 5 25 4 11 T BB w6 s R | EATH [t on Ty /BT RET 5,078 3 Mk
54221 5536811/ EE1 1| 59635 ) T AT a6 | BATH [m10.00 TEy 2R 14,172 53
5422253 IR AR )1 S8 #1581 T8 %ﬁiﬁ; 37 A | EARITHE [L=8.0m 7o v /L 2,824] % 3 DUHH
554225758011 B 27501 SR EE IR T f%g 3 H | BAILE |L=13.0n 7oy /7L 3,490 75 3 Ui
555015525 8 {RT) 1AM FR) )1 S48 1R 5 %ﬁiﬁ; 67 H | BATH [L=208.5m 7o v 7T 40,430  Z 2 DU




55016 5 2T )| 1111 58546 1 T AN e R | AT |2 7y R 0,418 100k
55017 B YT )37 555 7 A 1 AT 088 | BATH AL n TB s R 1,003 4 3 L
59550195 63T 1| AR 11971 9¢ 48 1 T KU s A | ATF |6.0n Ty 2T 0,427 8 3 IE
55021 55236811 P A1) 1 98 5 T AT Ha6 0 | BATH |85 0n TBy SR 20,137 %5 3 UHH
550225138 ) A 2R AT )1 S5 218 1R T K};ﬁﬁm 16, H | EATH [L=47.5m 7o v 7T 15,884 &5 2 DU-H
55024 52 381)1| FF U101 9S4 ) T T | 8 A | BATH | m Tr s 2B 2,565 4 3 I
55026380 |45 H) 1T 35 2548 13 T3 K}EEHET erH | HARLE [L=19.2n T my 7B 6,576 &5 3 MU=
55028 5 03I 11N T 1| 5 1 1258 AT g6 | BATH |02 TE o s BE 22,806 % 3 Ut
5455030 5 MEEAT ) 1/ ) 31 S5 I T AT 6 n | LATH [0 TEy SR 34,432 45 1 D0
55040 552368 00118 1111|965 1 T3 Aol | w6 n | ATE Lsen Ty 2R 14,914 5 3 kA
55043 5 UE AT ) 1/ ) )1 S5 I T AT 6 n | LATH [L20.80 TE SR 0,425 45 3 DI
55044 55368 AT 1 51|11 96 5 4 1 T AT | w3y A | SATE m12.4n Ty 2B 4,205\ 453 DU
450465 T K i B B S I T AT 65 n | LATH |55 0n TE SR 16,694 #1103
55530243830 |6 3§ EE 10 T3 %%%BT e rH | EALE [L=47.5m 7oy 7L 15,340 5 1 DU
55531 B N ) | K71 58548 19 T AN 938 | AATH [16.00 Ty 2T 3,312 3 0k
55533 B W1 B4 )1 3 ) 9001 562 1 T AT | w68 | LATE -16.00 Ty 2 HE 7,880| %3 D0k
555362 3E ] )| Ba) 1| J 3)13] )1 $8E 18 A T2 ﬁ%ﬁm erH | HARLE [L=84.9m “wmyr/fHEL 30,877| %5 3 PU:Hf
55537 3T 8 1T 1| 96 4 P T AT | 08 A | BATE |om Tr s 2B 3,805 4 3 I
55538 i) 1| 2 B 1 32 13T 1| $ 2545 1H T2k ﬁﬁg erH | HARLE [L=51.4n T m v 7L 5,846 5 1 P-4




5554253 8T ) 1| X B 1 13A] )1 S 48 1 T8 };m;r #6 s, 7 | BARTEHE |L=27.6m 7oL 7,588 &5 3 DU-H
55544 B )11 32 7)1 98 1P T AT | 9850 | LATH |64 TE /BT 2,192 %3 g
5554523 114845 1 ST 8 2248 1A 15 féﬁéﬂ 37 A | EATH [L-12.0m 7oy 7FET 2,262 3 IU
55547 B 5011 %) )1 9 1P T BT ga6 s | BATH | TB SR 13,501 %53 0L
55549 5 MEREIAT ) 11/ ) 3T 1| S5 I T AT e n | LATH [2nn TEy SR 13,662 453 WA
555083830 || AR )1 S8 =1 1A T3 ﬁﬁﬁ? 3 H | BEAILE |L=18.™m oy /L 4,958 &5 3 MU
5555 15 gl /N e )1 SEEAR 1A T }i{ﬁ; 6, H | EALE |L=32.6m 7 mry /L KET v 15,749 55 3 PU-4]
51415 VT ) SR 39015625 4 1 T AT | w300 | BATH |20 TEy /BT 2,375 42 D
5142 55T S YRR ¢ I T BOET | w96 0 A | AT |m14.0n SR 7,865 1D
5143 551175 B SRR IS S B A I TR AR 060 A | AL |25 5n TE oy 2RT WD 16,842 51 P
H144 5 T A UH B S 4 IR T %?EE $96,H | BATE[=11.5n 7 vv /BT 5,383 51 D0
1455 B R AARE I K EE D THE %ﬁﬁﬁ% #1837 H | EATE [L=8.5m 7u v /L 4,415|  H51 DUEH
514675 il RGBS 1R 1R T %iﬁ%m #1137 A | BATE [L=15.6m 7oy sET 2,793 EH 1 DU
F14T 5 B M) | RS HRE I K 1E 10 T ﬁ?ﬁm ¥6r,rH | BARTE |L=19.0m 7oy 7L 8,229] 51 DU
306 FHBORA (B5) FEHSECHEINTHF };@W K3, H | BALEH |L=23m 7 hE 4,422| 55 2 DUeH
318 HUARA (R MLHLSCEM IR T AT | 3R | AT |, 0,728| % 2 Mk
321 BHAA () 3B ICERIATH AT s | RTH [T ey 2 11,242 453 P
320 HUbex A () JEHESCSEAIA T AR | 96 A | AATH o 7 bR L 7,018 42w
331 HHEK (B) 15 ERRTF %ﬁéﬁg ¥8r A | EATHE [L=112mn 7 b8, Ht 21,637 &5 2 DU




332 FURIK (B) 25 BLHSe IR T ST sy | RTH [m 7 b, L 11,704 552 0
334 HUBIE/K (Of) RHiSCEHEEIRLE %éﬁmm #1347 H | EARILHE |L=18m 7 hE 2,860 52 P
338 UL fi] M S A IR T %ﬁiﬁﬁ? 3y H | BARTE [L=26m 7v v s, Ht 4,092 52 PUH-H
339 AP RHLCEE IR T %ﬁ?ﬁam ¥erA | EATE [L=134m 7u v 7 HE 6,776 552 VU
341 BRI (3) BEHLSCER IR T AT 6 1 | AT |2 Ty R HEE 7,000 2 ks
342 B S B S EE IR T %ﬁ?ﬁam ¥erA | EATE [L=1m 7 FE 8,591| &5 2 VU4
343 HSRTEAL 5 LM L I T TR | 6 s A | ATH [mon 7 b 5,148 4 2 M0k
349 HURAA MK EE IR TH %ﬁ?ﬁ? ¥3r A | EARTE |L=140m 7v v, Het, Bt 14,395 45 3 MU-3
351 MUOTR 1o I S EAR IR T %ﬁiﬁ; ¥3,H | £RTE |L=1Tm 7 &, L 3,223 H5 2 DUH
353 HUMRMERHLS EE N TH K}/?%BT ¥erA | LATE [L=26m 7oy 7, Hit 6,072 552 VU H
358 HOTEA () REHSEHEEIATHE fgg K3 rH | EATHE |[L=16m 7u v, $kt 4,125| 55 2 DU
373 MMARE (pR) EHIKEEI T fgg K8 x»r A | LARTE |L=5m v v i, it 10,439| o5 2 PU-1
303 FUREA (3) 25 BLHLSCE IR T AT s | SRTH [Fen 7y 2 2,783 52 LI
394 IR H S EA IR T %ﬁﬁm e r A | EARTE |L=24n 7 &, HEt 5,357| 52 DU
402 U HEAT R HE S AR IR T ﬁ%ﬁ ¥3,H | £ARTE |L=36m 7 hrE, it 4,598 A2 M4
404 FURHE () PLHbSCEMEIATH AT s B | AT |sSen HeE, 7 bR TE 2 11,616 %2 m
107 SRR F A T AN s | BATHE [Fm 7 b, e 3,004 41 mE
409 HORE AR EE D THE %ﬁﬁm 6, H | EATE [L=43m T m v /K 5,005 51 DU

411 BRI E ) EHREEIR TS ﬁ%ﬁ ¥erH | BATEH |L=22n 7 Fo& 5,357 52 MU




416 FAE (F) 15 RMEEEIRTE K;ﬂéﬁ}; K6 r A | LATHE |L=25m 7o vk 7,546 52 DU
419 BORMIG (B 15 B SHEE R THE ﬁ%ﬁ; ¥W3r A | EARTE |L=1Tn 7 & 2,035| &5 2 P-4
422 WHEAA (T) RHKEEHEEELF ﬁ%ﬁg ¥3,H | £ARTE |L=32n 7 brE, it 6,521 55 3 MU
425 HHEH () 15 RHKEEERTHF ﬁﬁ; ¥W8»r A | LARTE |L=13n ZuvrfE, 7 bhr%E, Bt 12,133 45 2 P-4
426 FHLMH (%) 25 RHIKEEIRTE %iﬁ%m K3y A | EATHE |L=13m 7 F &, Pkt 4,785| &5 2 PU-H
432 FORBIE (9F) FRHNSSHEAIA T AT 4065 A | BALH |- 7 b, L 7,403 42k
436 FHORA (F) RMSCERR T }i{ﬁ; K37 A | TATHE |L=13m 7 b, HEk 2,310 52 PU-Hi
437 HHUNH () 15 EEIATE Kiﬁ&m K137 A | EALHE |L=16n 7w v 7 Ff 2,123] 55 2 Ui
438 HUUREND (F) FERMICEEIR TS }i{ﬁ; ey A | EATHF |L=24m 7 m v 7R #Et 7,326) 55 2 DU
442 WA H (FF) RHKHEERTE K}ﬁﬁg K3y A | EARTE |L=3om 7 L&, Pkt 3,003 553 U
444 FE B EHISER IR TE Kjﬁﬁg ¥3r,H | EARTE |L=2lm 7 bE 2,574 552 P-4
453 HHSTN (8) FRHUEEE IR T Eﬁ%ﬁ%ﬁ K3y A | BARLE |L=13n T r vy /if 4,290 52 DU
456 1| FRRH S EAR IR T ﬁ%ﬁ%m ¥3r,H | £ARTE |L=23m 7 hrE 3,674 51 DU
458 FOmmELE (Ffn) 15 RHEEEIR THF ;ﬁ%ﬂ%m 3y H | £ATE |L=1em 7 &, Pt 3,861 52 MU
459 HhELE (Fn) 25 RHIEE IR TH ﬁ:%m ¥3,H | £ARTE |L=36m 7 hrE 4,026| 552 PU-4
460 HHRmELE (GF) BRHUEHEE R THE ;ﬁ%ﬂ%m ¥3r A | EARTE |L=1bn 7 F& 2,827| &5 2 P-4
464 FURARIE (7) BLHBSCER IR T M s, h | ATH 5170 7 b, Pk 3,806 4 2 K
467 HHRmELe (IE) RHUEHEE R TH ﬁé&ﬁ ¥3rA | EARTE |L=tln 7 F & 2,761 552 VU1
477 SR K2 B M S I T AT | W6 | ATE Lsen 7 28 B 5,201 % 2 0
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489 HhER (F)) RHKEEHFEBLHF f@?ﬁm 3, H | EARTEHE |L=23n 7 rv 7, L 4,752 552 TUAH
491 HUMATH (W) BEHEEEIRLFE f@?ﬁm K3y A | LARTHE |L=26m 7 L&, Pkt 4,598 51 MUY
492 HUEARIL (IE) EHSEEEIRTHE f@?ﬁm ¥3srH | BARTE [L=42n 7u v 7, Ht 4,224 52 TUHH
499 HUMUINE (FF) BEHUECEEIR LS ﬁﬁﬁ? K3y A | EARTE |L=tom 7 F&, Pkt 2,167 52 DI
519 HUEST T RIS EE I T ﬁﬁg 3y H | EAILEHE |EL 4,246 5 2 DU
523 HOWRHEAS S EH HE I L5 %ﬁ?ﬁ? ¥6 4, H | BATE |L=52m 7r v/, HEt 6,897 552 VU
527 SORHERE 2 5 5 I T AT s | AT |2 Ty R HEE 2,750 %5 2
528 HUMAR 5o B S E I 0 T3 ﬁ;ﬁ%ﬂm K3 rH | EATE [L=9n 7oy 2,992 51 DU
531 FUBRI M S AR IR T }i{ﬁ; K13, H | EARTH [L=18m 7 L& 3,333 O 2 DU
532 ML (1) RHICEE IR TE ﬁégfﬁm K3y A | EATHE |L=22n 7 M, Pkt 3,168| 52 JU-1
450 BURBEIR (8%) 15 EHA 1 IEERIA TS Kjﬁ&g K3y A | ATHE [ 1=8n 7uvZi, KE L=9m kG 2, 178 45 2 DU
455 HHAH (o) REHIAN L AFREEIN TS ;ﬁ%ﬂ%m 6, H | BATE [BH L=lom 7 F8, KK L=24m kLA 7,733 B2 DU
5601 HyREFUKEE K EE IR TH Kjﬁﬁﬁm K8r A | EATHE |L=32lm 7r vk 11, 121 551 DU
5603 HUATRA/K S S EIE 1A L i}ﬁﬁﬁm ¥3rH | BATE [L=250m 7u v s 4,213 51 DU
5605 HIRIE L () KEEKEEIR LS Kjf&m K3y A | EATE |L=86m 7o vk 3,113 %5 1 DU
5606 U2 /K S EE IH L4 i}ﬁﬁﬁm 3y H | EATE |L=13n T v I 3,696 52 U=
5610 Ayl (i) AKERKFEEIBTHF };@W 8 H | LARTH [L=65m 7v v/ 11,033| 552 IU>=3
5611 UG (1) ARSI IR T AT 08 A | BATE |mam Ty 2w 3,630 42 0k
5613 BRI 2 AR L I T BT | w858 | ATH |3 Tro B 2,750 %2 Mk
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5615 U ACRE S A T BT | #9850 | ATH |-om 7m o 1,554 2 mEm
5616 UK EKEE S ERIA L3 ﬁ;ﬁ%ﬂm ¥6,H | LATE [L=100m 7u v 7 iF 5,126| 552 PU-H
5619 SIRILA (—) 2 B KEs S M IH T BT | w651 | TATH |3 Tmo 8 5,841 4 2 M0k
5620 HHRIIA (—) 3 BKEKEEIALE ﬁ;ﬁ?m K3y A | BARLE |L=3ln T rv/if 4,191 51 DUy
5625 SRR (FD) 1 5KEs S A T AT s | RTH [Len e 2 11,704 452 0
5626 HHRA (1) 2 BKEEKEEINLE %ﬁzﬁmm ¥6r A | EARLE |L=4Tn 7 r v /if 6,963 52 JU-I
5627 UM AR S A T T | 3R | AT |Tm R 2,673 % 2 M
5630 HURIRA KIS K FE A T %ﬁ?ﬁ? K3y A | BARLE |L=68n v /Ff 3,652| 52 PU-H
5633 HUCK BRI SR EIR IR T %ﬁéﬁg ¥3rH | ARLEH |L=1om 7r v 7 4,631 51 P
5637 HukRH (F) KIEKFEIFLF %ﬁzﬁmm ¥3r A | BARLE |L=8ln T r v /if 13,519 %5 3 MU-3
5638 SURIRIR () 1 BKE S M IH T ST e | RTH [ e 2 5,973 1 I
5639 HUMEIR (K) 2 5 /KKEEFEMRIALTF %ﬁzﬁmm K3y H | EATE [L=18n 7 m v/ 3,311 %51 DU
5640 SRR ARSI T TR | 3R | AT |6m —H 3,333 42k
5641 HUMARAKE SEFEE IR TF %ﬁ?ﬁ? ¥34,H | EARLE [L=44m Z3KELS, 22,011 %5 3 U4
5642 B RS S A A T AT e | kT (L8 e 2 8,780 410k
5645 HEFINH UK K FEE B THF fgg ¥3s,H | LARLE [L=168m “m v 7 FH 6,435 5 3 JU-I
5646 HUIFRIS 1 B KR SR A N T SR | e | RTE [Fesn TE R 7,348 42 Mk
5648 T RUK S R EE A L4 fgg #1347 H | EARLE |[L=dn 7w v 7 3,971 52 PU-i
5651 HUHR/NMIURIK S S EAR IH T fgg 6, H | TARLEHF [L=3m Trv 7 6,710| 55 2 P-4
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5654 B A AR (F5) 2 BKEESKEHEEIALE fgg K3y A | EATE |L=1ln 7o v 7iE 2,277 1 MUY
5655 HU LK S EE IH L4 ffgg ¥8 4y H | EATE [L=253m KAI7)2-h 16,588 5 2 PUf=1
5656 HyFARE (Ak) 1 H/KEEKEEEIITE fgg ¥6rH | TARLE |[L=28m Trv 7 5,962| 552 PUAH
5658 SR II 1 5B S A T T | 98 A | BALHE |2 Ty 28 4,730 2 W
5660 A H /K B SR AR 1R 5 fgg 8 s H | LARTH [L=50m v v/ 10, 065| %5 2 DU =4
5661 HARHUA (3L) ARSI IR T SR w3 n | ATE [T s, 2,654 %30k
5662 SUIIL 1 5KEE S A 1A T SR | s | BRTE [Fim T 2 1,612 F 2k
5663 SRS S A TR T L 08 A | BATE |mn Ty 28 3,152 53 I
5667 HyMIA (IF) KEEKEEIRTE fgg K6 r A | EATE |L=2in 7o v /K 9,537 2 MU
5668 HUIR LL UK B SECEAR 1B T f%g K3y A | EATE |L=86n Tuv/iE 4,004 52 DU
5669 HUHRIN PN K 5 5 4 1 T %;Eﬁ%\w #3,H | EATH [L=102n —EH 4,301 52 JUH
5670 UM (1) KEEKFEIRTHE K;JE%;T K3, H | EARILE |L=Tn 7r v /g 2,893 51 MU
5673 HUORE » UK S EE IH L K;JE%W K3y H | BARLE [L=13m T rv 7 3,652| 552 JUAi
5674 SN A KBS S A TR AT 08 A | BATE |- Ty 28 3,465 5 1 DU
5676 BERAKEE SEE IR TF %;%ET K6 r A | EARTHE |L=120m kg, 7,909| 552 PUAHY
5677 HUIRTE / JFUKEE SCEE 1B T %ﬁ? ¥6 4, H | LATE |L=66m T u v /K 6,831 52 PU-i
5679 myEE () KIRKFEEIBLHE K;;;:%ET ¥3rH | BARLEH |[L=22n T rv 7 2,343 52 MU
5681 4Bk (FE) AKIRKFEIFLHF %ﬂéﬁﬁm K3y A | BARLE |L=lom T r v i 2,233 52 MU
5684 BN 1 5 /KK EE IR T ﬁ%ﬁg ¥3rH | LARLEH |[L=26m 7 rmv 7 2,937 52 MU
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5687 HU EKIR K FEME I T H %iﬁ%m 3y H | LARLHE [L=14n T r v 7 2,486 5 2 PU-4
5695 HUuHELHI/K I S EAR I L K}/?%BT K3, H | EARLE |L=2In 7 r v /g 3,608 552 Ui
5701 HUMAH (F7) KEEKFEEIRLHE Kjﬁﬁg #1347 H | EALHE |L=88m T 1 v/ 7,997 % 3 MUY
5702 SRR FABE S A T AT | 9850 | LATHE |mem 3,410 5 2 LI
5710 JSRIEGD (HO) 1 5 /KRBs S 1A T A I CEPS N EE S PSP R 3,323 453 I
5714 Wi /4 2 KR K FEE IR TF ;ﬁ%ﬂ%m 3y H | EATE [L=129m 71 v 7 fF 4,752 52 DU
5717 IR () ARSI TF M s | ATH L8 e 2 3,740 4 2 I
5726 HURGHEE (57) JKEEKHEEIR THE ﬁ%ﬂﬁﬁp ¥84rH | LARLE |L=3m T rmv 7 12,166 55 2 JU-3
5732 HURHGL () ARSI TH BIET | 651 | ATH |mam Ty 8,321 52 LI
5733 B H /KIS SEEE 1A T ;ﬁéafﬁm 8y H | EATE [L=215m “'u v /i 16,786 5 2 PU-1
5734 FURHE KBS S F N T AT | w6 R | AATH [2m TE R 5,907 452 K
5735 Wyt (hk) KK FEEIFLF ﬁégfﬁm ¥3rH | LRTE |L=23n T rv /g 4,972 52 U
5736 AR FKBA S35 1 1F T AT | w9 n | AATE [LF17En T 28 12,007 2 Pk
5738 SHRUL KBS S A T AT g8 A | BATH |- Ty 28 3,872 52 W
5739 HUARER 2 Sk R EE IR TH ﬁﬁg ¥3rH | AL |[L=22n T rv 7 4,521 52 TU-H
5742 WA E/KIEE S EE A T4 %\%@T #1647 H | EARILE |L=3m 7 rv 7 8,239 52 MU
5744 ORI (D) RS SLH A A TF AT e | ATH [2om ey 2R 6,193 52 DL
5745 WM (—) AKEKFEIFLF %ﬁﬁ%?% ¥erH | ERTE L= T r v /g 8,272 52 M-I
5746 HUCRAB/KIEE K EIE 1B T %ﬁiﬁg ¥3s,H | BARTH [L=30m 7ru v/ 4,994 552 U
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5747 HIRMNH 2 H/KIE K EEIH THF %iﬁ%m ¥6 A | EATE [L=135m —RELG 6,050 %52 DU
5748 SO AOKES IS E AN T AT 065 A | BALE |t Ty 28 6,578| 45 2 DU
5749 HOIR KA KRS S I T SR | s | BRTE [T Ty 2 3,872| 2 ML
5751 SR AKES IS E A T AT L 08y A | BALE |5 Ty 26 3,280| 5 2 DU
5753 UM/ INE K K EE IR T H %ﬁéﬁ; 37 H | BATHE |L=30m 7o v s 2,596 52 DU
5755 HUAK ELRA KBS S IR T AT g8y A | BALH |-t a2 14,784) 551 0
5158 O M 1 5 S A I T AT s | SRTH 2 e 2 3,740| % 2 MU
5161 HUE I EE K ER IR T %ﬁ?ﬁ? 37 H | EATE |L=16m v v 7k 2,673 2 DU
5162 RURBEIR (1) 1 S CEE A T ST e | RTH [Fem e 2 5,797 4 2 ML
5163 HUEIR (&) 2 5REREEIALE %ﬁzﬁmm #1377 A | LATE [L=14n 7o v 7 4,961 52 DU
5165 HOHINA 1 5L SCEE I T B wssn | BATE [ 70 28 1,026| %53 0k
5166 SR F 5 B LS EMIN T B | w6 R | RATE |3 TE 28 5,000| 5 1 DU
5167 SCHR I L S IR T SR | s | BRTH [Fen ey 2 2,134 %52 ok
5173 HUKARTE 2 6 BRALH S EMIN T AT g9 | AT |-13en BRI 2,871| 452 D
5187 FOORBAMA (f) JLiSCEMINTH BT 935 1 | ATH |m1am Tm o 2B 2,596| 52 MK
5191 HOk% T 8 i S 1P T AT 40658 | BATH |9 Ty 28 5,005| 5 1 DU
5192 RUKFF T 7 B LSS EM IR TR BT | w651 | ATH |2tm 7m0y 5,489 452 L
5193 WA - PEEE K ERE IR TF ff%g #1647 H | EALE |L=4ln 7o v 7 8,855 52 I
5194 HOHR 1T SCE IR T ML g6 a1 | kT [Lssn ey 2 6,644 5 2 P
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5197 FUB{Y i M S S AR 1R L };@W ¥8r A | EATH |[L=62m 7 v/ Fk 11,946| %5 2 P04
5199 HUBHE B M fEE S AR 1A T ﬁgm 3y A | EATE |L=18m v v 7k 4,675 52 DU
5200 ACH LI M 3 5 T AT | s s n | AATE [Fa TE R 2,772| 5 2 WA
5201 HUCAKEAT 1 5 EE K EE IR TF %ﬁzﬁmm 37 H | EATE |L=35m v vk 2,365 52 DU
5202 HUKHUR (PD) MRESCEMIATE BT | 858 | TATH |2tm Tr o B 3,080| %5 2 P
5814 ORI (%) BAE TUCHEEIA TH AT g8 A | TALH |WKOa7 ), @RS B2 4488|452
5815 Ok IRTAE T 9EE A T BT | #9651 | TATH |IKC720) | T 12 7,700| %5 2 P
5816 HCORBEIL (F) BAE TOCEMIATE AT | wern | ATH [=7Ey 6,138 45 2 D
5817 UK b5 A 72 TS E I T BB 3 n | AT [T e 2 3,610| 5 2 P
5819 dti/bk (k) FAE TOCEMIATE AT | w65 R | LATH =78 0,007 %5 2 P
5820 HUSR/MIUFTIRE TS EMIA T AR | B A | ATE (O or) 20,438 452 kA
5821 MU ILIEAE TREEIA LE fgg #1847 H | EALE [MKIECo, #ETr s 17,039 45 2 DU-HA
5823 HUKFEG (W) SHE TOCEMIATH PR | s A | LATE =7 2,018 52 p
5824 FURHAREE B TICEHE A TF AT s A | AT | 0,550 453 UUp
5825 ORI B T 9CEE A T R s n | AT (I CaE) | T2 8,079 53 P
5826 WU T T A E LK EEIA LE ﬁﬁ; ¥W3rH | EATLE |27y, #rTay s 5,867 5 3 MU
5827 HRFRIREAE T 9EE A T BT | 985 1 | AT |IIECT20) | T 2 13,266 453 DL
5828 FUSRIARTE B T9CEH I T RO g8 r A | BATHE | G | TR 10,012 %2 10kt
5832 HUIRFIH (&) BHE LEFHEIALHE ﬁéﬁ}g K8y H | EARLE [MKfTHZ, #ET ey 12,122 2 2 U3
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5833 Ak PP S T 9EE IR T ol | s | kT [k 0,203 453 I
5830 HUARM A B LA IA T gl | #9650 | LALE Witk o) 07|  #2 pEm
5835 HCARIE TR E T9CEE A TH R s A | AT (IR () TRy 4,313 3k
5836 SRR (FE) B & T9¢H 6 A TH AT g8 r A | BATHE |k G | R a2 0,479 3 I
5837 SCHAILITE B T 55 IH T SR s | kTE [T 00, 451| 452 KA
5839 WU Z STEAE LKFEMEIALE ﬁ;ﬁ?m ¥6 A | EATE MK CEFH) 7,535 ZF 2 DU
5036 ACHRIE R Wit 9¢EE A T8 TR | s s R | ATH [ B E. K 19,160| % 3 045
5938 HUMIA 7= ol S EH 10 T2 fgg 3y H | EATE |, B OE, Wt 7,013] 553 MU
5030 HOHE [ 2 S-S A I T SR | s | AT R L R % 16,265| %5 3 1045
5940 A7z o S EME D T K;JE%;T #1347 H | EALE [Pt BB, 7 FE 10,513 %5 3 DU
5043 RIS E A I T R s | AT [ B K U 16,315| % 3 I
5944 HURELH 72wl S ER 0 T ;ﬁéﬂfﬁm #1347 H | BALE |k 8,884 5 3 MU=
5045 ACHRILFE 72 Wit 9¢E A IH T BT | 3B | TATH [t A8 0,506 45 3 I
5680 AUKHUZ () ABESH 1 IESCHAIN T MR s R | ATE [kilain Ty 2L BH Ln 70y 2R 5,214 452 0K
5703 HHRITIAKBEAN 1 FE 54 10 T Kjﬁﬁg @3y B | EATE DKEE L-68n KU, M L-28m T o 5,808| 45 2 MU
5707 HCHRKRHE 1 Bk HRSN 1 1SS EIN T R | 967 1 | £ALH [k L2570y /R BH L-lon BERESEY 5,608| %5 2 DU
DX hEiER=

28/210 A FNEE) I 1 S ¢ 45 |0 T8 Dg%m #1647 H | EATHE |PE1TV=532m3, & 1:V=289m3 12,309] &5 1 PU-H

27



5520/210 10 N4 /K S 518 1H L Dg%m 6 H | EARLE |HEEE TA=8m2, /KK LL=11m 6,864 &1 M
5528/210 1 FRAG B K I S8 =15 1H T2 E‘gf’g 6 7 A | TARTE |[HEEETA=T1n2, #51EY BUE T.V=2m3 11,022 &5 1 DU
5902/210 F Fnd T EE S EE1E 10 T3 'gg? ¥erH | BATE |20 —=X 51,148 5 1 MU=
KERB BOFKEZER

BIE KRGS KR R T H DIJ;E%BT ¥6rH | BHETE |WREZ 129 4,290  Z5 1 PO
2K 2 KON T T u%m 6, | aHETE |2k 1 4200 % 2y
78 A SGRFUH AR ALK B A 3R T Djf”ﬂm 645 A | -AIEH |HPPED 150 L=440m 22,000| 5 3 PU=HH
Bl it 7 R 5 T Dgfg $96 0 | FRETE [KABERNTR 2055 8,580 % 1
B HhiERERE

R MR Y - ST @?%ET §672 0 | LA |85 - EE 91, 0000t 15,278 %5 2 MUp

, s - - ” R - 64. 9 D ARG EW R EMRA T3 ot w
%ﬁm#%iﬂﬁ@ B AT /Tﬁfﬁﬁiﬁ::r—‘% ﬂﬂ 1 'ﬁ: = B HT 7f\{j 37/ H ﬁﬁF{Z’SI$ 36. 4m20)7!<3"5@3"5%ﬁ(£ﬁ¥{2&]:$ 7,169 oy 2 Imﬂ:/ﬂ;ﬁ
5309/210 7 57 = 87 K LK B8 S EAE 1R T8 = Ep T enH | EATE |L=40.0m #i7 o 7T A=75.0m’ 15,698 &5 1 MU
5803/210/ B PR LK EE IR L& 1 BT K62 A | EARLE |L=7.5m 2/7)-}EI354T  35. 4n’ 8,429 45 2 VU -1
H. — A N AN =

5901/210/ B L T S EH- A T4 T B T K6mrH | EATHE Eﬁg% izgg: 32 (;4%?1;{‘)1 6m{"7k%IL 22. Om 38,577 &5 1 DU
H5245945- 1] ) 1[5 DA 5518 1R T8 1 T ¥emH | BRTEHF |L=33.6m =2V —F 7 mvZfEL 75 0n’ 10,569 25 1 VU4
4217 B @ e ) RIS 548 1R T8 =L #6mH | EARLE |L=45.0m =227 UV —FrF v ZHEL 100.0n’ 12,088| &5 1 MO-4
KER BEKEE

T KIS~ R KT L A 2 — 5 L =g ¥4 H 4%%@%;0@ TUA—F—HHFTHE —K 2,838] 52 MU

[LEFXFT BE=E - HEE
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MRV xS 5 — R T sammr | g9s 0 | B e R DPHAIRE 1775 = 1. ) 4,337 %1k
HAEE BERRE
Y=y MR A LT AT | 930 | T |SHI N LORE, b L ONRLS 8,806 43 I

WX HhigiREE

52480 5 U1 22431 1| ¢ 1 58 BB w558 | ATH |55 522 )= 78y /B4 0m2 2,300 #5100
281 5 U 1| 22431 301 S 1 5 BB 58 | ATH |8.0n 322 =178y 25 0m2 3,500 45 1 4
282 T 1| 2431 )1 ¢ 1 T BB 558 | ATH |05 522078y /B2 0m2 3,600 5 1004
52483 5 W 1| 2243 301 S 1 5 BB | 58 | EATH |54 =522 0= h7E s 2 Hi25.0m2 3,600 5 1 4
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